3L A rectangle of dimension 10cm and

5cm is placed adjacent to another
rectangle of the same size to draw an L
shape figure. Find the perimeter of the
shape so formed.

L 3R #Hr e F@« & fv,
10cm 3R 5cm ﬂ'SIT?ﬂT aret AT A
AT PR AT G8 HAT F qoT A
@I ST Bl 36 YR ot rHfa &
oA AT F

a) 100 cm b) 40 cm

4¥50 cm d) 60 cm

3
@%Ho_‘o:?}o

|SSC MTS, 2 Nov 2021, Sl| 1



32, A typist uses a paper of size 32cm X
20 cm. He leaves a margin of 2 cm each on
all the sides. If he leaves a margin of 1 cm
only on all the sides, then what is the

@ercentage of the increase)_ig the area

32 28 30( (32 available for typing (correct to 2 decimal
e places)?
J '3 F1§ TERTE, 32 cm x 20 cm HHR T
20 P 9T T 3YANT HIAT g| 98 Teft syamait
: W 2cm &1 FhaIRT oEar ] 96 a8
2 \g asft oAt W dad 1cm &I ﬁﬁrm
820 3023 a’l?,t—ﬁagﬁvra:ﬁvmamﬁ
= 22N gé ved gefr W #X (G F
‘HTXQS W2 g & TUE dF))
1 197.— 11,9 20.54%  b)82.96%
c) 17.04% d) 79.46%
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28 In the given figure, the area of the unshaded
region is 35% of the area of the shaded
region. What is the value of x?

ar 1§ MFfA A, HSMAT &F (unshaded
region) HT &A% d, SIAT AT F TP
T 35% &1 x T AT AT FY

#.20 b) 15 A0 d)5

0) \30%X2Q 0
A6 gD

<) 12010 + \¢p

50m [

X m-

ShﬂMX%: Unshaosd
5/ng}gxa%= 1302 +x%

Ued = 2orag?
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4. The perimeters of 5 squares,are

24 cm, 32cm, 40 cm,

76 cm and 80 cm respectively.
The perimeter of another
square equal in area to sum of
the area of these squares is:

5 @@t & IRAT FHFHAR
24 cm, 32cm, 40 cm,

76 cm 3R 80 cm & 37 Tef
T IRATT fFaar gem foraesr
ga%d 3 @Mt Fet &
ATF & SIS & AT gHIM?
a) 31 b) 62

A124 d) 961

| 6
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73 a+2
z 2
@+2)— a"=32

< (Ra+2) =27 (g

]

2. The difference of the areas of two

squares drawn on two line segments
of different lengths is 32 cm?. Find
the length of the greater line
segment if one is longer than the
other by 2 cm

ar e dFE Y @it W
A I AT & AABl FHT Ha<
32cm? @ 3R

JqFaS AT Y
a)7 9
c) 11 d) 16
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256
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3: Find the area of the shaded region
in the given figure of square
ABCD (in cm?):
feT v 3T A ABCD = T
g eoIfed AT FT AFwd A
ENIE D

128 b) 192
c) 148 d) 168




Y. PQRS is a square whose side is 20cm.

S R
RANJIA
\/-P Q0 Q
@0 20 2>><‘1

By joining opposite vertices of PQRS
four triangles are formed. What is the
sum of the perimeters of the four
triangles?

PQRS T& Tt § fawdhr s 20cm
¥ PQRs & Rwda afist ) Aee W
IR e wred @ 8] AR feer &
qRATN T T FAT §?

a) 402 J780V2 + 80
c)40vV2+40 d)40vV2 + 80




1 xxx (11+%0)=8Y b
o

= 2 (11%)=168
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5. ABCD is a square, E is a point

on AB such that BE = 17cm.
The area of triangle ADE is 84
cm?. What is the area of
square (in cm?)?

ABCD U& 31 §| ¥@T AB W
E & fdg & 3R BE=
17cm @ s ADE &7
&P 84 cm? g ar T &
TG AT HifA]|

a) 400 b) 625

¢) 729 576
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6- A square garden has two roads passing

@ on?o + 700'4)(25:;4“3, through its middle, both parallel to its
sides. Each side of square is 40 m in length

and the width of roads is 10 m. Find the

@Sqmw@o . total cost of grassing the garden at the

rate of Rs.20 per m? and graveling the
+ Yoadx5 [ 10 roads at the rate of Rs.25 per m?.

0

= 166Dx2 o ﬁﬁaﬁidhigzsﬂ o g@ amer & st &

+ Up ~ $ 10m & & 20¥9/m?
QSGD“G’O>X5 0 SERd ﬁ om & @ 20%qT/m

3
3

b) 32500

4¢835500
| | 12
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7. If the diagonals of two squares are
in the ratio of 2:5, their areas will
be in the ratio

- g ﬁ»‘\q"ra?‘r#ﬁwrrﬁaﬂmm
P Q/d 2 o 5 %, mmmm
a-'qTa?rr’?
& )V2:/5 b) 2:5
Mo, 1855 /;f4:25 d) 4:5
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8. If the ratio of areas of two squares is
225:256, then the ratio of their
perimeter is
IR &Y T & &YABal FT AT
oOMaRk 22S 256 225:256 g o 3o IRATGT &1
JHeTIT FAT §IM?

d /% : a) 225:256 b) 256:225
F / J?.ls - J25°6 /)’/15:15 d) 16:15
IS © ¢




9. The ratio of the area of a square to
that of the square drawn on its
diagonal is:

Py T & &FA%d JUT 3¥ T
& Aot W a9 T & A% FT

a AT 9T
a)1:1 M1:2
/Xfi. c) 1:3 d) 1:4
de da'o%,m,,p
2




@p)ana 2 hine

(D) diafrfs  J2 Juwss

“Jx o

-

[o- The diagonal of a square is 4V2 cm. The

%

diagonal of another square whose area is
double that of the 1st square is

frdr a9t &1 Aol 42 cm ] 39 Tt
& fawot it aFag frash gl ST
AT g T F Aaba { QE[EAT
grm?

a) 8v2 b) 16 c)\/32 /é{ 8




Ill. The diagonal of a square A is (a + b).
The diagonal of a square whose area is

(Gight timedthe area of square A,
3T A & (90T T dFEE (a + b) B
» 39 g3 & QAT fr Fead Far el
22 fSasr eaee @t A & aa%a &
. TS T[T &I?
fimar ) 4(a+b) b) 8 (a + b)?
A2V2(a+b) d) 2v2(a — b)




[2- The diagonal of a square A is (a +
b) units. What is the area (in square
units) of the square drawn on the
diagonal of square B whose area is
j,; twice the area of A?

TF T A &1 f@wt (a + b) SHEAT
g a9t B & Aol W i 1w Tt

dm-fx 52( errqrer ¥ &A% o aﬁmn &7
—(a+h A 2
@D)m ax “) a) 4(a + b)? b) (a+ b)?
c) 8(a + b)? 2(a + b)?

| CGL2019T1 | 21



|3-In the adjoining figure PQRS is a square

of maximum possible area which is

Z@ P Q circumscribed by the semicircle. Points
R and S lie on the diameter AB. What is

< the area of the square if the radius of
Q% the circle is r?

A ST T B UHT &GH Jrel UH T § A TF
ad

<—x— %m;ﬁwﬁmaﬁéﬁ
2 FT

Sanale a30437) " gy
2Ur 2 5B 2 M%rz

\h_?'.} iL= v 2
:) -Lz

=Y?
S




/4. In the adjoining figure a quadrant (of

A circle) inscribes a square of

| maximum possible area. If the radius

R of the circle be r then what is the
area of the square?

5 Rr o 3w &, g9 F§
14 -( aqater ¥ A aEed @
2 ua;av‘rsiﬁw—crama?ra?r
- 1,2 Bear r &, ar T FT aABd F4T
R C Q B ¥, :
"

d) 2vér

r2
C) ﬁ
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|5+ A square is inscribed in quarter-circle in
such a manner that two of its adjacent
vertices lie on the two radii at_an equal
distance from the centre, while the
other two vertices lie on the circular
arc. If the square has sides of length x,
then the radius of the circle is
UFH IqUieTr 9d # TH HATT 39
YR & § 1 sHS ered ar o
Fg ¥ FAW qff W ar Bt w®
g Srafeh ar 3mr i afer garr W

$
2x V5x
T % vz
c)— d)V2x
| SSC CGL T1 9 Aug, 2015 | 24
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2=0—> 3X10a42= q ) 1e3
‘ 3 2

[é« Points E,F,G and H lie on the sides

AB,BC,CD, and DA, respectively, of a
square ABCD. If EFGH is also a
square whose area is 62.5% of that of

ABCD and CG is longer(that EB, then
the ratio of length of EB t thgt of CG
ﬁT\"ﬁa’ﬁ'ABCD a?raﬁn&rTAB BC, CD
WDAWﬁgEFG:vﬁTHﬁﬂH%l
3P EFGH M ws o & forwer
&9%e ABCD & &F%d FT 62.5% &
3 cG T EB ¥ TS 7 A B TS
cea?rmréa:raigm?rqmaml
a)2:5 b

c)3:8 q

— —

\ ’3




[#- Four sheets 50cm X 5cm are
/S arranged without overlapping to
20 -l form a square having side 55 m.
What is the area of inner square so

&S «e—Sb—> formed?

r%’ % IR efieY 50ecm x 5cm & fo=m
1 4 ) Ifa=Sled & 3§ YHR @I STdT
SO U?; '[ ¢ T w& 55m e arem @ &«
l T 5 YR a4 NaRF T &
By &ABe FIT {IM?
5 \\ a) 2500 cm? 2025 cm?
«—DI— T, c) 16g0 cm? d) None of these
<l4§5)2— i3 (8¢)= 1235
= A0Q5 @231: W0 25

] %
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/8- A square park has been

2%

divided into two rectangles of
equal area. If the perimeter of
each of these rectangles is 39
m, then what will be the
perimeter of the square park?

Uh JATHR Uk H AT
g% gt & Agdar H
fenfoa frar mar 31 afy
ST AT A & AR &0
9#AT 39 m &, d TFER
9k & IRATT AT FI
a)104 m b)39m
c)78 m ﬁSZm

28
| SSC CHSL 09 Aug 2021 sgl



/9. The area of each square of a
chessboard _having 64 equal
T squares is If there is a
border on all sides of the

chessboard of 2 cm, then the

| perimeter of the chessboard is:
| 64 WATT JIf drel AT S
g A & Ycd% a9 FT aABer 4 T
el T mfnﬁ%ﬂ?é
2 Th ,
AV —  #H R
a) 128 cm 80 cm
c) 70 cm d) 256 cm

| CPO 2019 | 29
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